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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO 50

4.

T.B.C.: B-OEBB-N-NBS Test Booklet Series
8
g TEST BOOKLET
 MATHEMATICS
?'i_m Allowed : Two Htmrs. and Thirty Minutes Mazximum Marks : 300
1 INSTRUCTIONS i

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT

THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OF TORN OR MISSING PAGES OR ITEMS,

ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Flease note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test

Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the

appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer

Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet,

This Test Beoklet contains 120 items (gquestions). Each item is printed both in Hindi and English.

Each item comprises four responses (answers), You will select the response which vou want to mark

on the Answer Sheet. In case you feel that there is more than one correct response, mark the

regponge which you congider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONEY on the separate Answer Sheet provided. See directions

in the Answer Sheet.

All items earry equal marks,

Before you proceed to mark in the Answer Sheet the response te various items in the Test Booklet,

you have ta fill in some particulars in the Anawer Sheet as per instructions sent to you with your

Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to

take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

@ There are four altermatives for the anewer to eve For ¢nch question for which a wrong answer
candidate, (m af

e B the marke asignad to that suescion will be
o o ek e

{ii)  Ifa candidate gives more than one answer, it will be treated as a wrong anewer even if one of the given
mhpmwhawmd%-ﬂhmmtyummﬂlﬂqm

(iii) If a question 6 left blank, i.e., no answer is given by the candidate, thers will be no penalty for that
question,
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Evmyquuﬂratiemaﬁ.onuz+hx+c:ﬂ
where a,b,c e B, 220 has

{a) exactly one real root.

{b} atleast one real root.

{e} ot least two real roots.

{d) &t most two real roots.

‘The relation 5 is defined on the set of integers
Z as xSy if integer x divides integer y. Then
() B is an equivalencs relation.

{b)  8is only reflexive and symmetric,

(e} Bia only reflexive and transitive.

{d) 8 is only symmetric and transitive.

Ifa = b # ¢ are all positive, then the value of
a b ¢

the determinant |b ¢
c & b

(@) mnon-negative
(b} non-positive
(e} negative

(d] positive

alis

Let A and B be two matrices such that AB = A
and BA=H. Which of the following

statements are correct ¥
1. A'=A
2. B=B

3. (ABF=AB

Select the correct answer wsing the code given
belovwr 2

{a) 1andZonly

(b} 2and3 only

{el  1and 3 only

) 1,2andd

8.

(2-A)

5.10

What is (1001), equal te 7

s} (Bl
by {9y
) {17,
) (11, 228582
(Y {
What is [JE-:’J equal to, where l=\|r:T 7
fal 1
m 16
el @&
dy z

Let z be a complex number such that |z| = 4
and argz= %.‘Uﬂmtis:equalw?

) 23+
b 23-%
&) -243+2

{d} —J3si

where i = ,‘I'—_l

6 -%H 1
If| 4 3 -1|=x+iy, wherei= /-1,

20 3 i
then what i8 x equal to 7

{a) 3
M 2
ch 1
) 0
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TeE FEam S ax® 4 bx 4 ¢ = 0 FE

a,h,eek,a:l}i

(a) FuTaAY W Aneafaw g dm |

(b) FRBHT TF TR IF FA |

(¢} TRAFA G IEFE IR IR |

(d) iRt 2 arefas o B E
qtel % wg=g 2 W, @u S, «Sy F '

Tfonfis @ o quis », quls y S Ronfie
o T

(al §TUH goam Hag R |

(b) S %o Tageq ik wwfiE 2 |

(¢) S%Ew w@ges o BEEE ¢ |

d) S %aa wefia o dwms #
ﬂﬁn:h::aﬁmﬁ.a’rm

a b ¢
b ¢ al % EFE

¢c a b

{a} O
(b) W
ey TR
(d) UAIHH

oF #Hiem A sl 8w s w owwen £ e
AR = A 3t BA - B # | Pl sud
dwmAa T

1. A%-A
2. B'=B
3. (ABF=AB

9 fie g W wEn W o I W IR
Hifim |

VI = B

b Famz g

() Faw 1R 3

) 1,2z3Mm3

(3-A)

(1001}, Fres T 2 7
ta) (5l

by 1(9hg

© (1T

@ {11y,

A8
[{j—] fores e 8, i i ST 22
@ 1
by 18

ch &
dy 2

o Hif o o Ueh wiE T R R (2 = 4
\"liil'{urgz=5E11 ?I zﬁiﬁmﬁ?

fa) 2J3+%

by 2J3-3

) -2/3+2

) =+3+&

Wﬂi:.ur—_i

G -%H 1
4 3 =1

20 3 i
At Fermes wm R 7

{a) 3
b} 2
1
0

R l:+i;}r,ﬂﬁi=ﬂc—i,

(el
{d)
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If o, f are the roota of ax" +bx+c=0 and
a+h, f+h mmemtanl‘pxﬂ+qx+r=ﬂ,
then what is h equal to 7

[a} E [—h. = 2]
(b}

e}

Bal= Bl

{d)

(=10
]
L-N -
+
B o
| SRl

If the matrix A& i3 ench  that

1 3‘; i 1
A= , then what iz A equal
1

{a)
b}

-1 4
(e}

id)

Congider the following statements :

1.  Determinant is a square matrix.

2. Determinant is & nomber associated
with a equare matrix.

Which of the abave statementa ia'are correct ?
{a) 1only
&) 2omly

(¢} PBothland2
{d} Meither 1 nor 2

{4~

13

A)

If A is an invertible matrix, then what is
det (A~ ') equal to ?

(a} detA

" det A

€} 1
id) None of the above

From the matrix equation AB = AC, where
A, B, C are the square matrices of same order,
we can conclude B = C provided

{a) Ails non-singular,

(b}  Ais singular.

(c) Ais symmetric.

{d}  Ais skew symmetric.

e 4 x+2
A= is symmetric, then
x =3

what 18 x equal to 7
ia) 2

b a

€} -1

) 5

x+1

a b 0
IfF|0 =a b

b 0 a
following i correct ?

= {J, then which one of the

{a) "3; is one of the cube roots of unity.

{b) % i6 one of the cube roots of — 1.

(e} aoisone of the cube roots of unity.
{d) bieone of the cube roots of unity.
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A ax’ibxee=0 F P o g § 3
px2+qx+r=ﬂ%'{ﬁa'+h.£|-hﬁ,?ﬁh

s o
(2} E[E_EJ

(b}

{d)

[
(e) %[ﬁ,:
[

0 -1

(a}

(b}

(d}

1 e |

0 ~1J
fo=fefign wut w feEm it

1. wnftws v o avegs §

2. Wi o HEE § dEite O g |
THEE e F wEad e A 0

() HhEE 1

b w2

(e} 13 23
dy Fd1amadie

12.

13

14.

15,

(5-A)

A A UF el A B, W detia™)
forir & 2

(@) detA

l det A

@ 1
(@ IEH T BE

=g Wi AB = AC B, Wl A, B, C 5HF
wife % =t avege 4, w0 7w Frewd e w

TR B=C v s

AR § |
A wesritg # |
aAmafimd |

A T wfim & 1

(a)
(b
(ch
(d)

d 5

e [0 a b

b ] a|
w o e e

O (TR e AR T R

= 0, @ frafefen & @

E: §
{a) =—
i

{h) %,—mwﬁﬁﬁﬂqﬁit
(€) oUH (750 g R A uwd
) b (FHHE) % uaEl § B g
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The function f : N — N, N being the set of
natural numbers, defined by flx)=2x+ 3 is
{a} inpective and surjective

(b} injective but not surjective

(¢} not injective but surjective

(d) meither injective nor surjective

dn <5
mthﬁﬁ-ﬂuﬂtﬂawﬂmnhu

natural number and i = J=1 7
(a) 2

b 2

e -2

i

What iz the nomber of ways in which ene can
poet & letters in 7 letter boxes 7

(& 7
W &

© &

dl 2620

What is the number of ways that a cricket
team of 11 players can be made out of
15 players 7

(a) 364

(hl 1001

{e) 1365

(dr 32780

(B-

20. A and B are two sets having 3 elements in
common. If n{A) = 5, n{B) = 4, then what is
n{A = B) equal to ¥
fa) 0
(b} @
el 16
) 20

21. If fix) = ax + b and gix) = cx + d such that
flg(x)) = gifix)), then which one of the
following is correct 7
(a) fieh=gla)

()  fia)=glc)
(e} fie)=gld)
) fid) = gib)

22. If A and B are square matrices of second order
such that |A| = -1, [B| = 3, then what is

|3AB| equal to?
my 3

) -8

e} -27

id] Mone of the above

For the next three (03) items that follow :

Cansider the function fix)s === .

x+1
23. What is v::-tl:xﬂ}-}lf +x eqgual to 7
@ 0
b 1
€] 2x
{dl  dx

A) '

r for refersnce. It May wvary the Original.
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16. ¥9F f: N = N %, 3¢ N w3 il =

17.

18.

18,

B-OEBB-N-NBS

Wg: fix) = 2x + 3 # vfomfim fasm mm
?, g

uihr iR e &

by A & R ot W &
i) wkh T feg arreardt 2

() 7w ¥ oA @ e 8

()

{l-l-i}‘h +B

1_ptn+s
s g aii- [C1 87

fa) 2

firms war %, 991 0 U W

by &
&) -
{dy i

7 WA § 5 o6 w5 e b A T
w7

T
i 3

& &
id) 2520

15 faefiat & & 11 Faenfeat € e do
o whtel & v rd  weft & 2

(a) B64
b 1001
i) 1365
{dy 32780

20.

Zl.

A3 B @ wgew € el g smm owefie
£ 13/ nla) = 5, niB) = 4, 7 (A x B) frms
R 7

{a} 0

b 9

el 16

20

'ﬂﬁﬂ:}:u+b3ﬁgﬂx}=n+dw wen #
& flgix)) = giflx)), @ Frfifem 4 & wwm
UF HE R 7

{a}  fle) = gla)

by fla) =gle)

(e} fle)=gid}

dy  fd) = gk

afd A =it p i = & i of s £ 5
Al =—1, |B} =3, |3AB| fe wrmu 8 2
(ay 3

(b} -9

(e} -27

(d) I A F w7

T 3T AT w1 (03) TEATe W forg:

Wﬂx}-%'ﬂﬁﬂniﬁlﬁnu

X

fixi+1
fix)—1

+x Fomk w b 2

(a} 0
B 1
e} 2=
(d) 4x
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What i5 f12x) equal to 7

(@) flx)+1
filxi+ 3
fix}+1
®) Afixi+1
Afix)+1
© Twes
fix) + &
o Ifx+1
What is fiflx}) equal to ?
{a) =x
thy -=x
L L

{d} None of the above

For the next five (05) items that follow :

15
Consider the expanaion [—:i - l) ;

26. What is the independent term in the given
expansion 7
{a) 2103
{b) 3003
{c) 4503
(d) MNone of the above
|
27. What is the ratio of coefficient of x' to the |
term  independent of % in  the given
expansion 7
a) 1
12
) 2/3
d) a4
B-OEBB-N-NBS

X

(8=A)

5.10

Consider the following statements :

1. There are 16 terms in the given
expansion,

2. The coefficient of x'? is equal to that of

3
X

Which of the above statements is'are correct ¥
{a) lonly

{b)  Zonly

ic} Bothland2

(d) Meither 1 nor 2

Consider the following statements :

1.  The term containing x* does not exist in
the given expansion.

2. The sum of the coefficients of all the
terms in the given expansion is 215,

Which of the above statements isfare correct ¥
{a) 1only

{h) Zenly

{c} Bothland2

(d) Neither 1 ner 2

What iz the sum of the coefficients of the
middle terma in the given expansion 7

ta) G015, 9)
{b) C(18, 8}
(e} Cil16, &)

(di  Noneof the above

[
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fix)+1
fix)+3

fixh+1
3fix)+1

o 20+l

fix)+3
fix)+3
3fixi+1

(a)

by

(d)

26, fiitx)) Fews s R 7

(@) I A & wrd T

NPT A7 FT6 i (05) TEETRT O fargs

[xz +l]1EI t‘ﬁ'ﬁmﬁ'{ﬁ?ﬂﬁm |

X

26. fomwm fem i @iy wwnd o
{a) 2108
{b) 3003
{c} 4503

@) I & & =

I R 7
{a) 1

e
ey 3
W 34
B-OEBB-N-NBS
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fraferfian =i w faam i .
1. fmmfmmd s d

2. xF e« F e g

o el # & R vl A
(a) =1

(by e 2

e} 13 23l

@y Aar1atTde

Freffian w0 fmm Hifem -

1. fmm i O 2 9w e ol
4|

2. fm m fomw § wit w6 & s W=
aret 21 % |

I we! A & w2 0

{a) EH 1

by o

(¢} 13 22E

fdy Tt 1A d

fim m e § wen WS F qonw w1 S
fram d 2

(a}
ib}

C(15,9)
Cii6, 9
(e} C{18, 8)
@ =ofw d & a2 i



81. Whatis /1 +ain 26 equal to? 95, Whatis sin~? 35 sin- 2 squaltsr -
. 5 5
i (@) cop@-gin®
(b} cosl+snd (a} “ﬁa
(€} Zeost+gnd i nf3
(@ cosB+2sind i
| @ /6

32;. A lamp post stands on a horizontal plane.
From a peint situated at a distance 150 m
from its foot, the angle of elevation of the top

- b 7x — s 3x
is 30°, What is the height of the lamp post? | 36 Whatis ——=" ==

; ‘q““ k3
gin 7x — 2 sin 5x + sin 3% 1
{a} H0m
(a) tanx
{b} 5O
. b Vi m i eia
50
o e Fii {c} tanZx
{d} 100 m {d? W’th

ar. lnatria:ngle&ﬂﬁ,n:ﬂ,j_:ﬁ“,a=2ﬁ_
83. Ifcot A= 2 and cot B = 3, then what is the

then what is C aqual ta 7
value of A+ B ? bt

{a) a3o0°
{a) =f6

by 15°
b} =

i) 45°
e wf2

(d) None of the above
=4

38. In atriangle ABC, sin A — cos B = cos C, then

: 2 what is B equal to 7
4. w.hanastn”ne% -sin*zs% equal to 7

) =
{a} @&in 47"
{b}  cos 47" ®) =3
{e} 2 sin 47° o) =f2
i(d)  2cosd?* @ o4
B-DEBE-N-NBS (10-A) i

=17 The Information Provided here is only for refersence. It May wvary the Original.
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s1.| fi-eingo foms wmmwdy 85. sin’!

{a) coaB—ging

tn | e

+m“%ﬁmﬁimt?

(b)  ©cosd+sind ) w2

, (&) ZeoosB+sing by nfa

(d) cosB+2ging © w4
s2. W W wR @ T A awe W oas b @ /6
FrmA o nErmgaas
¥ w1 T w0 a0° § | A &y e | o8 TE-0835 Gk B9
ﬂg? gin 7% — 2 gin 5x + gin 3x
{a) B0m . () tanx
B 6043 m (b eotx
50 (e tan 2x
lfiﬂ Em
(d)  collx
{d) 100m

' 37. ABCH, c=2 A=45°%a=242 B,
2% MWetA-2MtB=-3, DA+ BT AR gﬂﬁ}ﬁ;iim;? a i

e
30°
{ﬂ} ﬂrﬁ fﬂ}
® b} 15°
e wf2 (e} 45
M nfd () I & F= T

y # 88. TH ABC ¥, sin A - con B = cos C B, B
34 a'mzﬂv&% -mzm% T a2 Pr i

B fred s & 7
{a) sin47° m
(b)  cos 47" s
) Zdm 4T @) =2
Wy Ssen gl @ /4

B-OEBB-N-NBS A11=A)
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g9, 1r SREY) _arb et is 20X |42, Which one of the following is one of the

sinfx—¥) a-h tan ¥ solutions of the equation tan 28.tan B =17
equal to ?
() w12
by e
(a) .;'l
e w4
a W =f3
® =
e} ab For the next three (03) items that follow :
Given that 16sin®x=psinfx+ quindx +rsimx
@ 1 .

43. Whiat ia the value of p 7
40. If sin A sin (60° - A) sin (60° + A) = k sin 34,

then what is k equal to ? a1
b} 2
{a) 14
o -1
@ @ -2
ey 1
@ 4 44, What is the value of q 7
(a) 3
(b} &
41 The line y = 43 meets the graph y = tan x, @ 10
' n) . §
where x ¢ [[I,EJ.II] k points. What is k equal @ -5
to?
{a} Ome 45, What is the valoe of ¢ ¥
(b} Two (a) 5
() Three b &
) (c} 10
(d) Infinity
dy -10

B-OEBB-N-NBS (12-A) L

=17 The Information Provided here is only for refersence. It May wvary the Original.
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. ) H w1 uw
9. T sm{:+y]=a+l:| L tan x fad 43, Tr=fafam
gin(x-y} a-hb ® tan y tan 28 . tanB=1H TN A A THER T
= R 7
fa) w1z
s
{a) 2
# e} w4
iy w3
:
® <
AT ST TR A 03) e o e
{e)  ab
ferm w2 fiR .
@ 1 16 sin® x = p gin 5x + q gin 3x + T 8in K
43, pREIAATR?
fa) 1
40.  4f% sin A sin (60° - A) sin (60° + A) = k sin 34
7, ks Ry & 3
ey -1
a) 14
dy =2
by 1f2
e 1 44, qE AR FE T
a4 ay 3
(b} &
41, T :.r=\lr§,3ﬂﬁli 3":’!;3::1351.5'5* (e 10
xe(n,g]mfaqﬁmﬁamgl ke Farb () -5
=L R
K i 45 rE AR Y
fa} &
b F
by &
ey oM (€@ 10
id) 3 d} -10
B-OEBE-N-NBS {13-A)

the original.
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For the next two (02) items that follow ;

Let 5, denote the sum of first n terms of an AP and

38, = By,

46. Whatis 8, : 8, equalto?
{a) 4:1
by 6:1
e} 8:1
(dr 10:1

47. Whatis Sy :8, equalto?

{a} 2:1
by 3:1
e} 4:1
d} 5:1

ellipse 25x° + 16y° = 400 7
{a) 252
254
(e 165
325

For the next two (02) items that follow :
Consider the eircles :2+y2i Zax +¢=0 and
:2+yz+2bj'+c=ﬂ,

49, What is the distance between the centres of

the two circles ?
)  ya?+b?
B af+b®
el a+h

dy 2ia+h

B-OEBB-N-NBS

What is the length of the latus rectum of the

51.

53.

(14-A)

The two circles touch each other if
{a)

i)

d} e¢=

A3, 4) and B(5, — 2} are two points and Pic a
point such that PA=PB. If the area of
triangle PAB is 10 square unit, what are the
coordinates of P 7

(e} (1,00 only

(b} {7, 2) only

e {1,0aor(T, 3

(d) MNeither (1, 0) nor (7, 2)

What ia the product of the perpendiculars

drawn from the pointa (+ ﬂlaz - 1%, O) upen
the line bx cos o+ ay sin a=ab ?

{a) =a°

b b

© a'+b?

dl a+bh

Which one of the following ie correct in
respect of the equations x—;-l-ygz and
Ix+3y =57

{a] ‘'They represent two lines which are

parallel.

(b} They represent two lines which are
perpendicular,

(¢} They represent two lines which are
neither parallel nor perpendicular,

{d) The first equation does not represent a
line,



37} AT T 31 002) wERTT & R
wH #fifi 8, vF ware A4 & wem o vl dree

w gfvm wen § ot as, =8, ¥

46. 84

{al
{b)
el
id)

7. 84

{a}
b
el
id)

48, THTR 2657 + 165" = 400 % TfEw 6w

8 sty
4:1
B:1

2:1
3:1
4:1
b:1

TR

la}
B
(=]
d)

T} 3 AT 3 02) T & fv:
Q‘fﬁ 32+1.rg+2u+¢=0 ﬁ'{15+12+2h5r+ e=1{

26/2
26/4
165
32/5

o fammw i |

d0. FHigEI R I G dMMgPBan

(a)
(k)
3]
id}

-ula"*'+h2
lﬂ._bﬁ
a+h

Zla+ b

B-OEBEB-N-MBS

WWW .

5.

{IEI—A}

sarkariresults.ico

B a9 whgnt v wh af
(a) e= ,'|32+|:-|E

L
[+
el e=

d} e=

A3, 4) 9 B, -2 A Rz ¥ sk pow firg
WU 2 75 PA=PB R | 3R Fnm pAB =1
soee 105 g, 9 P FSmw w gy
{a) 4 (1,0

(b) A (7, 2

€ (1,07 (7,2)

W a0 dmIdEn

62. Ta bx cos & + ay #in o = ab ‘Kﬁﬁﬁ

i JaZ -b?, 0) B W} T T = oW
TEAER FI g ?

{a) a°

by b

(ch al e bt
d a+h

et E_1=.._ o 2 s 8y =5 %
mﬁﬁqﬁrﬁaﬁiﬁmmﬁﬁﬂt?

fa) & = v B fefn =@ 9@ oem
#1

) AT f PEefm R iamad

@ ¥ % tanel w fefg w0 § o 9 @
s ad

td) wem wiEm o ta = feie ol
T |
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For the next three (03) items that follow :

Consider a sphere passing through the origin and
the pointa (2, 1,- 1), (1, 5, - 4), (= 2, 4, - 6).

64. What is the radius of the sphere 7
J2
NiT)

12
14

{a}

(b}
{c)
id)

What is the centre of the aphere ¥

fal (=1,2-3)

(b) (1,23}
&) (1,2,-3

d (-1,-2-3)

Consider the following statements ;

1. The sphers passes through the point
(0,4, 0L

2. The point (1, 1, 1) is at a distance of
5 unit from the centre of the sphere.
Which of the above statements isfare correct ?
(a) 1oaly
(bd  Z2only
(e} Bothland2 .

(dY MNeither 1 oor 2

B-OEBB-N-NBS

For the next two (02) items that follow :

The line joining the points (2, 1, 3) and (4, - 2, B)
cuts the plane 2x+y-2=3.

67. Where doea the ling cut the plane ?
(a) (0, —4,-1}
b (0, -4,1)
e (1,40
(d} (0,4,1)

What is the ratio in which the plane divides
the line ¥

(a) 1:1

(b} 2:3

el 4:4

(dY Noneof the above

For the next tiwa (02) itema that follow ;

Consider the plane passing through the points
A2, 2,1} Bi3,42) and C{7,0,8).

G8. Which one of the following points liea on the
plane ¥

(a)  (1,0,00
) (1,0,1)
{ch (0,0,1)
(d) None of the above

What are the direction ratios of the normal to
the plane ?

{a) =1,0,1>

b) <0,1,0>

e <1,0,-1>

{d} None of the above

{16-A)
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it i e dty (08) wEEET & fa

Tt I T gtcog) TvA & for:
famgail (2, 1, 3 offt 4, - 2, maﬁaﬁa:‘tmﬂ%m

T ot Pl (2,1, - 1,01,6,- 9.¢-2,4,- 6) | et 2x ey -z -3 F FRA R |

# g T 9 e o fEm fifim

64. e o Bem am e
{a) 412
by 4

(cy 12
) 14

65. Titelh W H FI R 7
& (-1,2-3
) (1,=23)
© (1,2-3

d =1,-2,-3)

66, Fr=ferfas %l w faem ifi
1. e g (0, 4, 0) % Ehest A R |

2. R (1, 1, 0 iEs e @ 5 afe B

gl
0wt A # WA wh o
(a) ¥AW 1
by w2
) 1323t
) FIFMismad2
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B1. &, ENaE 51 0 S 1§
fa) (0,-4,-1)
b 0,-4,1)
e} (1,40
 (0,4,1)

58, woe, Yan F fve o d Rfm s 2 0

() 1:1
b} 2:3
[
@ T o & wrd
Pt s A gt o) W & o
fgal A2, 2,1, B@, 4, 223 C7,0,6) % B
e ATt w1 A i |
9. Frafafn fgalt § & ®hw @ owmw W
Rmde
(@ (1,0,0)
®  (1,0,1
{ed  (0,0,1)
@) I A # = ol

60. FTE T e & w1
{a) <1,0,1
B <0,1L,0=
e =1,0,-1=

@ v A

(17 -A)
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For the next three (03) itemns that follow :

x2 - o, x=3
Consider the function Hx) =
yx+1d, x=3

61. What is 11'rn3 fix) equal to?
Xk
() 2
b 4
ey &
dy 13
82. Consider the following statements :
1 The function is discontinuous 88 x = 3.
2 The function is not differentiable at
x=0,
Which of the above statements is/are correct 7
{al 1only
(b)Y 2 only
(¢} Both 1and 2
(dy  Meither 1 nor 2
63. What is the differential coefficient of flx) at
x=127
{a) G52
b 5
ey 15
) 110
B-DEBB-N-MBE

For the next three (03) items that follow :
The line 2y = 3x + 12 cuts the parabola 4y = axt

4. Where does the line eut the parabola 7
(a) Atd—2, 3)only
by Atid, 12 enly
(e} At both (= 2, 3)and (4, 12)
{d) Meither at (- 2, 3) nor at {4, 12)

the line ¥

{a} 27 square unit
(b} 36 aguare unit
(e} 48 sgquare unit
id) 54 square unit

line and the y-axis in the first quadrant 7
{al T aguare unit

{b) 14 square unit

{e) 20 square unit

{d} 21 square unit

67. Consider the function

tan kx
x<0
ﬂ‘,\'.:l: X
31+‘2k5, xzd

What iz the non-zero value of k for which the

function is continuous at x =0 7

() 1/4
i 1z
{c) 1
dy 2

(18-A)

What is the area enclosed by the parabola and

What is the area enclosed by the parabola, the
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- R AR A (08) ST W fo:
%% -5 x£3
T flx) = i . femm ifim |
yE+13, =>3

Bl lim fix} Formes ST & 7
3

(a} 2
by 4
) &
dy 13

62. Fefafan sl w firaw it .
1. oH x=3W 3 § |
2. TEM x =0 W IEFeE TE R |
e FwET § & B T A o
(a) W= 1
(b) Fad 2
) 13 239
d Ad1amade

B3, x = 12 W fx) F I R AT 7

{a} 52
b) &

w15

) 110
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N7 ST T i (03) SR A o
¥ 2y = 3x + 12 TEEE 4y = 3x° F Fed §

84, v, TeEER i wE wed §
{a) HFE (-2, 3T
(b) ¥ (4,19
e} (-2, 83 4, 12 8w
@ A2, nWARIR 4, 12w

85. Tawg 3N i gR vig fewa e g o
) 27aigfe
m 36 gfe
fe) 487 g
@ seFl gfE

66. Wan wgmtm # waewm, T s ywm aw
uiag dwe e d o
(o) 7 gfe
by 14t g
e 2ot gHe
) 21t gfe

E_EPE. x<0

67. HEH  fix) = x A
Hx+2k2, xz0
"ﬁﬁiﬂl:
x =09 FeH % Had B & fom kW oy
AR
ta) 1f4
by Lf2
e} 1
d =

(19-A)
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68. Considef the following statements : 71. What is the area of the parabola y2 = 4bx
1 The fanction fx) = bx, where [J is the bounded by ita latus rectum ?
greatest integer function Fieﬁned o R, {a)  2b%/8 square unit
is eontinuous at all points except at
=0, (b} 4b%/3 sguare unit
2. The function f(x) = sin|x| is continuous (©)  b® square unit
forall xe R. 3
Which of the above statements is‘are correct 7 (d)  8b"/3 square unit
(a) lenly
N Te. If y=xInx+xe", then what is the value of
6—3 atx=17
(¢ Both1and 2 dx
(d) Neither 1 nor2 o R
b} 1-e
) 1l+2e
For the next two (02) items that follow : WD =Moot abovs
Comgsider the curve x = a (cos 8 + 8 gin 8} and 7%. Whatis lim Mequaltﬂ?
y = a {gin 0 = 6 cos B). s I
fa) 1
0 log, e
89. Whatis S equal to? NeB
dx e} log,
(a) tamd i &
{b) cot@
in li o a
. - 4. Whatis lim > equal to?
(@ cos20 {a} log 5
(b} 1ugt_e
r0. whatis 927 eoualte? © 5
tig —-
at is ot equal to @
(@ soc’o 75. Whatis lim —Lt243+.4m  lto?
(b)  —cosec® ® n+w 1% 2% 0% p? e '
) B
@ e b 2
ad
e 1
{d} MNone of the above W 0

B-OEBE-N-NBS (20-A)
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g8, Frorfian s w fem Hif
1. T M) = i, W@ (], B W ofoenfim
e plE Tem B, x = 0% A wd

forgxi mEma B 1

2 Wﬂz}:a&nlﬂﬂ‘ﬂ:ﬁlﬁiﬁﬂ.
e |

T el § B ShaS w7

{a) aE 1

(b) a2

(@ 13t 23

(@ Fd1aade

it 3 TR 3 (02) SET & T

F x = alcos O + 0 ain 8) 3 y = a (3in 8 — 6 cos 8)

7t o Hif |

G5, ‘:_iﬁmﬂ;m%?

{a} tan®
(b} cotB
{c) sin 28

{d) cosif

70, i_iéé o = B 7

{a) sec’ O
(b) -cosec’®

eec? @
af

@ Todw & =

ed

Tl

T

T4,

75

B-OEBB-N-NBS {21-A)

waea ¥ = dbx W, I6H TEE W Eg
S R ?

(a)  2bif3e iR
) 4p’fs 3P
(0 i '{ﬁﬁ

@ spifawi g

qfd y=xinx+xe’ Bl x=1W :—zﬂﬂ'm
R

{a) lse

hy 1-e

e 1+2e

) IO A ° FE

lim B R e A 2

x-+f X
fa) 1
3] ]ngﬁ @
ie) log 5
) &

b legge
0]
1

lim ottt R
n-te 1% +2° +3 +...!'I|1'

(a) &
() 2
ey 1
iy 0

reference. It May wary the Original
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For the next three (03) items that follow : For the next two (02) items that follow :
Congider
"
Consider.r-.[ “.h I xhn“ltdxth{:2+1]tan.'1x+ﬁx+ﬂ.
1+sinx
o where C ia the constant of integeation.
78,  What is the value of A 7
(a) 1
76, WhatisJ equalto ?
- b 1z
{2} -—n ey =12
thy 0 dy 14
e} = 80, What is the value of B 7
(a) 1
d) 2n ) 12
@ -1z
- d) 1z
: (m=x)dx
T7. What is T equal to 7 Fnrthnmdkmﬂ)ﬁ‘jikmtﬁatﬂhm:
! n
Consider the integral [ = I in (gin x) dx
a =
o
) iz ni2
o 8L What is I In (sinx}dx equal to?
by =2r
ey I

78, Whatis | —9% _ equalte? o A
1+aginx

ﬁ‘—u;ﬂ-
2
]

82, Whatis In (eos x}dx equal to ?

&) 1
[}

by 2 @ Iz

fch 4 b T
ey =27

@ -2 ) 47

B-DEBB-N-NBS (22-A)
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T T AT A (03) SEAT & T T AT Ee0e) TR & fA

f
IGJ l;.jl_u; el Ixtan"xdx:ﬁ{xg+1}tan"x+ﬂx+cll'-t,
+ 51N
0 - |t ¢ mem. s &, famm i
79, AFIEEENRT
76, 1 T w7 {a) 1
b 12
18} o=n @ -2
iy 0 14
(€} = 80. B I WA FNE?
{a) 1
iy =12
14
]
. j{n—:f]dx e W A2 AT AT T 27 (02) TEe & fere
1+8inx
i} L
. T = I!n{si.u.t]dx T fi=m i
1 it
o]
by nf2 w2
@ 0 81. I!ntainx!dx Faparie o 2 2
0
) 2n (a} 47
by 2f
ey T
oy 12
f
78. I 9 frerh w20 w2
1+sinx
0 82, In{cos x) dx TROE SRR 7
fa) 1 [3
b} 2 ta) 12
5 by I
ey 2
-2 - i) 4l

B-OEBB-N-NES [23-A)

r for reference. It May wary the Original.



WWW .

For the next two (02) iterns that follow :

A rectangular box is to be made from g sheet of
24 inch length and 8 inch width cutiing out
identical squares of side length x from the four
corners and turning up the sides.

B3. What is the value of x for which the volume is
maximum ¥

{a} 1linch

{b)  15inch

(e} Zinch

(d) 25inch

What is the maximom volume of the box 7
{2} 200 cubic inch

(b) 400 cubic inch

(c) 100 cubic inch

(d) None of the above

What is the degree of the differential equation
5 y#2 g 42

d*y _ | d*y 2

a?) )
ay 1
b 2
& 3
dy 4

What is the solution of the equation
In (j:} +x%=07

(a)
by

(e}

) y-e"me
where ¢ is an arbitrary constant,

yie'=e
?“H_*':I:

yee =g

B-OEBB-N-NBS {24
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87. Eliminating the arbitrary constants B and C
in the expression y = %rm-n“+u.w

:
w oi(@]-

o (@[]

o (@

o (&

For the next three (03) items that follow ;

Let fix) = ax® + bx + ¢ such that (1) = £-1) and

a, b, ¢ are in Arithmetic Progression,

88. What ie the value of b 7

(@) -1

by @

{ek 1

{d} Cannot be determined due to
insufficient data

ia), £'(h), Mc) are in

(a} AP

(b} GP.

el HP

(d) Arithmetico-geometric progresaion

lad, £{b), P{c) are

{a}  in AP only

tb)  in G.P. only

(el in both AP. and G.P.

d)  neither in A.P. norin G.P,

—A)

original.
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T} 51T a0z e & for: _ 81, m,.%m:_nﬁ»,niﬁﬁﬁaﬁﬁ

2499 it 2 o da <t S A &, = FE A g B 3l Cw Frsie S0 W 0 WE 2 7

vt x o wdaw o s ol g ® Fw 6

A U=, TH AT 92 T E | w x[“[*"-_?)i]:ﬂ

dx dax?

83, x TFE WF WL 30WEA Sfwan g 7 aryddy ayV?
(@ 1% ' ¥ k[d_x]d;“' +[E]'
by 15%9 dy)dly _,

(¢} 2% @ [d:]'h:
@ 257 o), 4%
(@ {E] 1=

84, O AftEman e a2
(a) w’"”fq s 3 T i o) sE @ 1R
by 4B TE
i} i WA TR fx) = ax® + bx 4+ ¢ T8 WL o6
& 1) = =13 3 &, b, ¢ T A H § 1
@ 7w @ =

BB, bF WA FERT
2 .
s B[R] - [ﬂ] fap| ® -1

G [aﬂ] © lax? ) 0
AT @ 1
fa) 1 @) vl siwE & e Fuifm T R
b 2 A Hehal
(€) 8 89, fa), fib), ) Fra dd d & ¢
) 4 {a) AF.

b} GP.
e, ot Inig—i)d-x:ﬂ FEAFRT ) HP.
& {d) EETEIEE A
- f”_:c 90. (), (b, (e} iw AT H & 7
by g—%"*e () Faw AP
£) y+e'=¢ R |
W y-et=c © AP #rap 264
A o T Ty SR | @ FMmAaApdsmadgrd
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=
oy
v
ta
=
&
(-]
Y
;4
el
W
=
g

ey 8

d 9

¥ 2 #h =1ad= B | then which one i
the following is correct ¥

@ [a|=|B1
() @ isparallelto b.
() ? is perpendicular tn_b}.

=y
id) =& isaunit vector,

What: ie the ares of the triangle OAB where O
—»

is the origin, OA =37 ~ | + k and

= o ) A

OB =2i 4] -3k ?

ta) 546 square unit

®) %- Biiare inft

(&) % square unit

i  +30 square unit

(26-A)

24. Which one of the following is the unit vector

—% A a A
perpendicular toboth & =~ § + j + k and
- A A A
b=i-j+k?

(a) 1+

Y R
® k

ek

ied 5

w 1z)

2

What is the interor acute angle of the
parallelogram whoge sides are represented

1 & e
by the wvectors Hl-i-ﬁjd-k and
-0
(a) &0°
b 457
ey 30°
dy 15°

For what value of A are the vectors
Aird+ni s+l ana
(1-2% +4] +2% perpendienlar?
(&) =13

by 1f3

i« 23

dr 1
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g AT U, T W
o1, R |3 |=2 |bl=53 | xb|=6%a|% Wii S, S ‘iﬁﬂf
ﬁimmt* 1 iln=—i+j+k3ﬂthgi_j,k
o - e gy
{a) & o
a) 1+ )
by 7 ]
i 8 & i
ay 9 " 34-,];
32

|
& W T T R
1 & 1 » A
w 5= o5,  afe 21+T2=;+kaﬂ1
® o, b Hawwt %E_éidmﬁmmmﬁ
: Tui S : A S R 7
@ =,3 meEal) o T ¢
{a) &O0°
@) = W AEEERm :
) d45°
(e} 307

{dy 15°
ps. [ OAB® davw fran R, =l 0 yafamg
—¥ A A A
-8 { il
t;nh 8i-j+k 06, A ¥ frm m ¥ for wigw
A A A
=25 4]k 82 5 3 k
OB =21 + ] # .11+¢1+Mj+{1+2.h.}k3h

(a) 5.6 T gfE (=0 +2] + 2% TEmam
) g‘ﬁﬁ?‘? W -13

(c) J'Eﬂ'iw e

@ 30 =i ghe @

@ 1
B-OEBE-N-NBS (27-A)
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For the next four (04} items that follow :

101.
—5 = — -+ —p —
a +b +c =0 suchthat|a |=3,|b|=5and
-
fe] =7
; - =

87. What is the angle between & and b 7

ia)  we

thh w4

) nfd

Wy nf2

. = = ™ 3 = —

98, Whatis a.b + b.c + c.a equal

to ?

(a) =83

thy -83/2

(e 75

(d} -75f2
&3, What is cosine of the angle between .t: and

_}

¢ ?

ta) 1112

by 1314

e =112

1314 ks

100. Whatis|a + b |equal to?
@ 7

b} 8

© 10

W) 11

B-OEBB-N-NBS
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nf
) dx
What. is - al to ?
a® s x+b¥ sin?x o
[1]
{a) Zab
{b)  Zmab
|;’ PhLE
c b
i
dy —
ab

For the next two (02) items that follow :

A eylinder is inscribed in a sphere of radius r.

102, What is the height of the eylinder of

maximum volume 7

2r
@l ==
V3
i
5
e} or
) Br

What iz ihe radius of the cylinder of
maccimum volume ?

o
o]
w J2r
V3
e r
i JEr
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T ST ATt W (04) TEATAL & (A n2
dx o T
SADER ngwmiﬁ!?l=ﬂ,|ﬁlsﬁ A alonaty + bl pintx &7
ml?l:?. °
{a) Zab
(k)  2nab
97. e b FdEFEMTL?
h o
@) /e © 5%
M) /4 @ X
ah
(¢} =3 %
d nfe
wmt s aret g eo2) gt & g
B8, 2.b + b.c + c.a b Em R | fewm o e § s wmT
(a) =83
by - 832
i 102, wiiEwm s I eE 5 dad g
iC
(@) or
@ -752 N B
. % (b %
99, b i ¢ iR A w= Ry
e Zr
{B:| llulrlﬂ {d} Jﬁr
by 1314
) -1112
s e 104, wfrEm s Tm e R Benwn d e
s
5B
%
100. |2 + b | el wm & ¢ [
)
@ 7 V3
b 8 ey r
ey 1D @ Jor
@ 11
B-OEBB-N-NES (29-A)
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For the rext tico (02) ifems that follow : 106. Suppose A and B are two events, Event B has
occurred and it is known that P(B) < 1. What
Congider the function (%) = sec® x + 4 with f0) =0 is P(A | B) equal to 7
and £{0) = 0.
PiA) - FB)
a3 1-F(B)
) P{A) - PIAB)
104. What is {(x) equal to 7 1- P(B)
a F{A) + P(B®)
® tanx- 22X 4 © rm
+
5 {d) MNone of the above
(b} tanx+ tm; z,
For the next four (04) items that follow :
e} tonmx+ vec’ x dx .
a Consider events A, B, C, D, E of the sample space
8 = o : n is an integer such that 10 £ n £ 20} given
tan® x by ¢ :
) —tmz-—— i Ais the set of all even numbers.
B is the set of all prime numbera.
C={15).
105. What is f{x) equal to ? Tri the sst of all integers = 18.
E 18 the set of all double digit numbers
Zimsecx tan®x . expresgible as a power of 2,
(g} ——— ¢ —— + 2x
3 G
107. A, Band D are
) Slnsecx  eotdx
2 G (a) Mutually exclusive events but nol
. exhaustive eventa
( dfnwecx  pee®z  _ 4 (b} Exhaustive events buf not mutually
cl —— i — e By i
3 i1 exclusive events
(e Mutually exclusive and exhaustive
4 ents
{d) Insecx+ ta;tzx + 2¢° &
(d)  Elementary events

B-OEBE-M-MBS (30-A) )



it T aTe gi(o2) SeETen & fev

o ) = sect x + 4 T, P Bm oy =0 ¥

£00) = 0 &, Tormm Fifim |

104, (x) oo w2 7

(a) tamx— —— +4x

b} tanx+

BEC E

(¢} tanx+ + 4%

tan® =

@ -tanz— e,
106, fix) s w2

2
() 2in secx Jlantx o0

3 -]
2
) Mumx+mt.n+hg
2 &
2
© 1h;e=x+w;x+kz
tapt = 2
d) Imsecx+ + 2x
12
B-OEBB-N-NBS
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109.
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108. WA = B A siw B 2 womd # | %A B

wmahl At fE PE<1 ¥
Pra | B) fiseis w R 7

P{A)- P(B)

®  Tpm

P(A) - PIAB)

B

P(A} + P(ES)
1-P(B)

(&) Jogw 4 & =

(e

7t AT =T I (04) yE & A

wfred TR S = {n:n TF [lE M OIER B TR
10 = n < 20) 9t W=t A, B, €, D, EW Fem $ifim,
wE

awft 7 Homa ® wa R
p st g wen @ Tgee B

C = {15},
D, <16 9T vt qifet 1 = R |

E 7 mfl fiam T=h gyt = ag=w R
fml 2 % WA & w9 F = fEm o
gl :

A B3R D

(a) Trem e wend # ey Predm weend
o §

{b) ﬁﬁ;mﬂ%ﬁﬁmmm
it

(o) TR HeE S fre weand #
) RS A §
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108. A, B and C are
{a) Mutually exclusive events but not
exhauative events
(b) Exhaustive events but not mutoally
exclugive events
fe}  Mutually exclusive and exhaustive
events
id) Elementary events
108. B and C are 112,
{al Mutually exclusive events but ot
exhauvstive events
(b} Compound events
fe) Mutwally exclusive and exhaustive
events
113.
{d} Elementary eventa
110, Cand E are
(a) Mutvally exclusive events but not
elementary events
(bl Eshauetive events but not mutually 114,
exclusive events
(e} Mutually exclusive and exhaustive
aventa
(d) Elementary and mutually exclusive
events
B-OEBB-N-NBS {32-A)

111, Consider the following statements in respect

of histogram :
1. The histogram is a suoitable
representation of a frequency

distribution of a contineous variable,

2. The area included under the whole
histogram is the total frequency.

Which of the above statements isfare correct ?

{a) 1onmly

(b}  2enly

() Baoth?!and?2

{d} Neither 1 nor 2

The regression lines will be perpendicular ta
each other if the coefficient of correlation r ia
equal to

(a} 1ocmly
(b} lor-1
{c}  =1only
d o

For any two evenie A and B, which one of the
following holds ?

(a) PiA N BY=PIA) < (A U B) = F(A) + P(B)
by FA U BY< PlA}<PrA N B) £ PLAY + PB)
(e} P(A U BISF(Bl s PlA N B) s P + PB)
dd PIANBI<PB)<PMA) + PB) s PAUB)

The probability that in & random
arrangement of the letters of the word
UNIVERSITY, the two I's do mof come

together is
ia) 4f5
by 1fs
110
dr 810




108.

108,

114
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aBshc

(a) woem wvEel wert § fr P wed
L

by Foredm weamd # feg wiem el wemd
i #

(o) wrER wwad i Feds o #
(&) sl Tzt #

Ba g

(a) oEES waEl weat & fRe Freg weemd
A &

¢y Tom o ¥
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115. There are 4 white and 3 black balls in a box.
In another box, there are 3 white and 4 black
balle. An unhiased diee is rolled. If it shows a
number leas than or equal to 3, then a ball is
drawn from the second box, otherwise from
the first box. If the ball drawn is black, then
the probability that the ball was drawn from
the first box is
(a) 12
by &7
e 4f7
d a7

116. If & and ¥ are the means of two distributions
such that ¥ < ¥ and ¥ is the mean of the
combined distribution, then which one of the
following statements is correct 7
@) X=<F¥=<%

b) T>F»%
©) == ";-"
d E<T=§¥

117. What is the mean deviation about the mean
for the data 4, 7, 8, 9, 10, 12, 13, 17 7
(a) 25
by 3
ik} 36
dy 4
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The variance of 20 ebservations is 5, If each
observation is multiplied by 2, then what is
the mnew wvariance of the resulting
observations T

{a} &

b 10

e 20

i} 40

Two students X and Y appeared in an
examunation. The probability that X will
qualify the examination is 0-05 and ¥ will
qualify the examinstion is 0-10. The
probability that both will gualify the
examination is 0-02, What is the probability
that only ome of them will qualify the
examination 7

(2} 015

{b)
(e
)

14
12
011

A fair coin is toseed four times. What is the
probability that at moest three tails ocour 7

(a) 7/8
15/16
1416
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b}

te)
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